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Cell Reproduction True & False Questions 2

FIX THE FALSE ONES. You can use your notes to help you.
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At the end of Mitosis there are four new cells.
During Meiosis, the same steps as Mitosis are used at first.
Mitosis makes sex cells.
Examples of sexual reproduction include: budding, fission, and regeneration.
Meiosis produces 4 new body cells.
Fertilization is the first new cell of an organism.
Sex cells have 100% (the same amount) of the genetic material of a body cell.
During Mitosis, when a cell is splitting, it has 50% (half) the normal DNA.
When sex cells first come in contact with each other, it is called budding.

In asexual reproduction, sex cells are not used.

Humans can use asexual reproduction to reproduce.

The male sex cell is the egg.

Gamete means the same thing as zygote.

During Meiosis, cells split more than once.

During Mitosis, the parts in the original cell have to be doubled.

Mitosis is happening in your body right now.

Mitosis happens in a tree.

Meiosis happens in trees.

Only complex organisms can use asexual reproduction.

Regeneration is when a unicellular organism uses mitosis to copy itself.
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